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Proof of goldbach * s conjecture and hail conjecture

Tang Yinghui

(Guangdong Transportation Technical School, Guangzhou, Guangdong 510000)

Abstract: In his letter to Euler in 1742, Goldbach proposed the following conjecture: any integer greater than 2 can be written as the sum of three
prime numbers. But Goldbach himself could not prove it, so he wrote to Euler, the famous mathematician, for help. But Euler could not prove it until he
died. Since the convention that <1 is also a prime number~7is no longer used in the mathematical world, the modern statement of the original conjecture
is that any integer greater than 5 can be written as the sum of three prime numbers. (n>5: when n is an even number, n=2+(n-2), n-2 is also an even
number, which can be decomposed into the sum of two prime numbers; When n is an odd number, n=3+(n-3), n-3 is also an even number, which can
be decomposed into the sum of two prime numbers.) Euler also proposed another equivalent version in his reply, that is, any even number greater than 2
can be written into the sum of two prime numbers. Based on the theory that even numbers can be written as the sum of two odd numbers, the Goldbach
conjecture is proved.
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